
Multiplication: Negative Decimal Numbers (H - set 4)
TWO DECIMAL PLACES

Name:

Time: Score: /

151) 0.06× 7 = 166) −0.8× 4 =

152) 0× (−0.3) = 167) 6× (−4) =

153) 0.8× 0 = 168) 0.01× (−0.06) =

154) −0.06× (−0.2) = 169) −3× 0.4 =

155) −9× (−6) = 170) −9× 0.7 =

156) 1× (−3) = 171) −0.06× 0.02 =

157) 9× (−9) = 172) 1× 0.02 =

158) 0× 9 = 173) 0.1× 0.5 =

159) −8× (−0.01) = 174) 0× 4 =

160) −2× 0.03 = 175) −10× (−1) =

161) −5× (−0.04) = 176) −0.06× (−5) =

162) 0.2× (−1) = 177) 0.08× (−0.01) =

163) −0.07× (−0.06) = 178) 2× 5 =

164) −0.03× (−2) = 179) −0.08× (−0.07) =

165) −0.07× (−0.3) = 180) 1× (−8) =
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